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Section A (8 x 1 mark)

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and write it in the bracket provided.

1. How many bears are there?
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(1) thirteen

(2) eleven

(3) nine |

(4) ten ¢ )



2. Which pair of numbers make 107
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- 3. Elephant __ ‘ ;is:Th"ir'd' in-position.
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4. 2 more than1bis

@ 13
() 14
(3) 17
(4) 18

5. -5=13
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6.14+3=
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4) 17



7. What is the missing number in the number pattern below?
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| 14

12

10

) 15
@ 1
3) 17
(4) 19

‘8. What is the missing number in the number borid below?




Section B (8 x 1 mark)
Fill in the blanks with the correct answers.

9. Write the number in words.

A\

L

10. 15 is between 16 and

11. Cross out two bees with 'rhe:.s'a'me» answer.




12. Arrange these numbers in order. Begin with the gbegtesf number, - |

16| | 8| |20]

(Qf' eafeSf).:

13. Look at the picture below. .

a) Complete fl'i\te number bond based on the picture above.

| b) Write a Sub‘tmcﬁon equation based on the number bond above.

oL




14. Look at the picture below carefully.

Bag is 6™ from the right.

15 Look at the pictures below carefully.

" Set Bhas. ____more __pen’c‘ilsj than Set A,



Section € (2 x 2 marks) | R I
Do the following story sums. Write your answers in the boxes given.

16. There a‘he'-14 goldfush cmd6 forfo;i‘s,esv ina fank

How manyfewer‘for"rotses than goldﬁsh are there?

There are __ __fewer tortoises than-goldfish.



17. Mrs Lim has 12 roses.

Mrs Tan has 7 roses.

How many roses are there altogether?

roses altogether.

There are

END OF TEST







EXAM PAPER 2018 (P1)
SCHOOL : ACS
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TERM : SA1
Ql Q2 Q3 Q4 Qs Q6 Q7 Qs
2 4 1 3 1 4 2 4
Q9) twelve
Q10) 14

Q11)5+6,13-2
Q12)20,16,13,8
Q13) a) -7_,.2"

: b) 7-5=2
Q14) F
Q15) 3
Q16)14-6=8
Q17)12+7=19







